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FENM 6R10B~6H258 6HA21B~7HSH

MERNY 39 23 62

(PLC-J) (22) (15) (37)
(CIA) an (8) (25)
MiEas ol 271 216 487
F—5%(n) (18] | Tl bt 80%4 o0%
EL 57,887 35.46 [dB] 34,95 [4B} 27.69 [d8] 24.09 [dB]

ATLRE N 29,145 34,28 [di3] 33.64 [dB] 26,63 [dB] 23.04 [dB]

1oL nSED 27,135 3542[dB] | 35.00[dB] | 27.791d8] | 24.32[dB)
FEFR 30,351 34.96 [dB] 34,48 [dB] 27.71{dB] 24.15 [dB]
JeAEA 11,256 40.00 [dB1 40,27 [dB] 31.54 [dB] 27.12 [dB]

2 97,887 240.70[2] 166.08 (2] 8710191 61.67 [2]

F2LAE N 28,145 153,57 [Q]) 12126 [Q] 66.39 [ 46.59 [@]

cmz nakE 27,135 252.49(Q] | 174.83(%) | 9292 [q] 87.83 [2]
FEFHE 30,351 27213 [9] 19562 [Q1] 102,89 [R] 73.32[Q]
JEREFm 11,256 353.09[R] 253.00(Q] 121.2119] 85.59(Q]

DMZ E2 3 97,887 83.4010) 56.09[0 29.08 [Q] 20.29[Q]
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